
CORRECTION

1) f(x) =(4x -5) - (3x +6)(4x - 5)
A) on développe :

f(x) = 16x2- 40x + 25 - (2x2- 15x+24 -36)
=16x2402+25 - 12x2+ 15x - 24x+30

f(n) = 4x2-49x +55 forme
Ansi FER : f(x) = 4x2_494 +55 développée

B) on factorise :

f(al = (4x -5)2- (3x+6)(4x -T)
= (4x -5)(4x -5 =3x-6)
= (hu-)(x - 11)

=> FEM : f(x) = (4x -5)(x -11)ise
c) On résout :

f(x) =0=s (4n-)(x -1) = 0
( Un-5 =0 on x-11 =0

(4x =5 ou k=11

= x= an= 11 = S =h



2) f(x) = (2x -3)(7x +5) + (2x -3)
Al on développe :

f(x) = 14x2+ 10x - 22x - 15 + 4x - 12x +9
=
18x2

_
23x

-
6 di :

B) on factorie :
VER : f(x) = 1842-23-6

forma développe
f(u) = (2x -3)(7x +5) + (2x -3)2
= (2x - 3)(7x+5+2x -3)

-

= (2n -3) (9x+ 1) = Vetic : flu) = 2x-3)(Su+2)
2) on résout : forma factorie.

f( =0= (2 - 3)(gu+ 2) =0
(= 2x- 3 =0 agx +2 = 0

c 2n = 3 ou Sx= - 2

Ex=zax=-
S = ( -E ; 2

&


